FORMULÆ FOR TWO WEIGHTED BINOMIAL IDENTITIES WITH THE FALLING FACTORIALS

EMRAH KILIÇ, NEŞE ÖMÜR, AND SIBEL KOPARAL

ABSTRACT. In this paper, we will give closed formulæ for weighted and alternating weighted binomial sums with the generalized Fibonacci and Lucas numbers including both falling factorials and powers of indices. Furthermore we will derive closed formulæ for weighted binomial sums including odd powers of the generalized Fibonacci and Lucas numbers.

1. INTRODUCTION

For n > 1, define the generalized Fibonacci and Lucas sequences $\{U_n\}$ and $\{V_n\}$ by

$$U_n = pU_{n-1} - U_{n-2}$$
 and $V_n = pV_{n-1} - V_{n-2}$,

with $U_0 = 0$, $U_1 = 1$, and $V_0 = 2$, $V_1 = p$, respectively. The Binet formulæ are

$$U_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}$$
 and $V_n = \alpha^n + \beta^n$,

where $\alpha, \beta = \left(p \pm \sqrt{p^2 - 4}\right)/2.$

From [2], recall that for $k \ge 0$ and n > 1,

$$U_{kn} = V_k U_{k(n-1)} - U_{k(n-2)}$$
 and $V_{kn} = V_k V_{k(n-1)} - V_{k(n-2)}$.

As generalizations of the results of [9], Prodinger [8] derived a general formula for the sum

$$\sum_{i=1}^{n} F_{2i+\delta}^{2m+\varepsilon}$$

where $\varepsilon,\delta\in\{0,1\}\,,$ as well as for the corresponding sums for Lucas numbers.

²⁰⁰⁰ Mathematics Subject Classification. 05A19, 11B37, 11B39.

Key words and phrases. Binary linear recurrences, binomial sums, closed formula, operator.

After this Kılıç et. al [4] derived general formulæ for the alternating sums

$$\sum_{i=1}^{n} (-1)^{i} F_{2i+\delta}^{2m+\varepsilon} \text{ and } \sum_{i=1}^{n} (-1)^{i} L_{2i+\delta}^{2m+\varepsilon}.$$

Khan and Kwong [7] studied the sums

$$\sum_{i=0}^{n} \binom{n}{i} i^{m} U_{i} \text{ and } \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{m} U_{i}.$$

In [5], the authors computed alternating binomial sums

$$\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} f(n,i,k,t) \text{ and } \sum_{i=0}^{n} \binom{n}{i} g(n,i,k,t),$$

where f(n, i, k, t) and g(n, i, k, t) are certain products of generalized Fibonacci and Lucas numbers.

Kılıç et. al [3] computed the sums

$$\sum_{i=0}^{n} \binom{n}{i} i^{s} U_{ki}^{2s+\varepsilon}, \quad \sum_{i=0}^{n} \binom{n}{i} i^{s} V_{ki}^{2s+\varepsilon},$$

as well as their alternating analogues for positive integers k and s where ε is defined as before.

By inspiring from [3, 5], the authors [6] derived formulæ for the binomial sums

$$\sum_{i=0}^{n} \binom{n}{i} i^{\underline{m}} (-1)^{i} f(n, i, k, t),$$

where f(n, i, k, t) is defined as before and m is a nonnegative integer and $x^{\underline{m}}$ stands for the falling factorial defined by $x^{\underline{m}} = x(x-1)\dots(x-m+1)$.

In this paper, we compute the weighted binomial sums

$$\sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} g(i,k) \text{ and } \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} g(i,k),$$

where g(i,k) is either U_{ki}^{2s+1} or V_{ki}^{2s+1} for k, m > 0.

2. The Main Results

Before our main results, we give some auxiliary results. For $n \ge 2$, define the sequences $\{X_{kn}\}, \{Y_{kn}\}, \{W_{kn}\}$ and $\{Z_{kn}\}$ as

$$\begin{aligned} X_0 &= 0, \ X_k = U_k, \ X_{kn} = (V_k + 2) \left(X_{k(n-1)} - X_{k(n-2)} \right), \\ Y_0 &= 0, \ Y_k = U_k, \ Y_{kn} = (V_k - 2) \left(Y_{k(n-1)} + Y_{k(n-2)} \right), \\ W_0 &= 2, \ W_k = V_k + 2, \ W_{kn} = (V_k + 2) \left(W_{k(n-1)} - W_{k(n-2)} \right), \\ Z_0 &= 2, \ Z_k = V_k - 2, \ Z_{kn} = (V_k - 2) \left(Z_{k(n-1)} + Z_{k(n-2)} \right). \end{aligned}$$

The Binet formulæ are

$$X_{kn} = \frac{(1+\alpha^{k})^{n} - (1+\beta^{k})^{n}}{\alpha - \beta}, \quad Y_{kn} = \frac{(\alpha^{k}-1)^{n} - (\beta^{k}-1)^{n}}{\alpha - \beta},$$

$$W_{kn} = (1+\alpha^{k})^{n} + (1+\beta^{k})^{n} \text{ and } Z_{kn} = (\alpha^{k}-1)^{n} + (\beta^{k}-1)^{n},$$

where $\alpha^{k}, \beta^{k} = (V_{k} \pm \sqrt{V_{k}^{2}-4})/2.$

From (see Eq. (1.118) on page 36, [1]), we recall the following lemma:

Lemma 1 ([1]). For nonnegative integers n and m,

$$\sum_{i=0}^{n} \binom{n}{i} i^{\underline{m}} a^{i} = a^{m} n^{\underline{m}} (1+a)^{n-m} \left[a \neq -1 \text{ and } m \neq n \right].$$

We need the following result.

Theorem 1. For nonnegative integers n and m,

$$\sum_{i=0}^{n} \binom{n}{i} i^{\underline{m}} U_{ki} = \frac{n^{\underline{m}}}{(2+V_k)^m} X_{k(n+m)},$$

$$\sum_{i=0}^{n} \binom{n}{i} i^{1+\underline{m}} U_{ki} = \frac{n^{\underline{m}}}{(2+V_k)^m} \left(nX_{k(n+m)} + (m-n)X_{k(n+m-1)} \right),$$

$$\sum_{i=0}^{n} \binom{n}{i} (-1)^i i^{\underline{m}} U_{ki} = (-1)^{n+m} \frac{n^{\underline{m}}}{(2-V_k)^m} Y_{k(n+m)},$$

$$\sum_{i=0}^{n} \binom{n}{i} (-1)^i i^{1+\underline{m}} U_{ki} = \frac{n^{\underline{m}} (-1)^{n+m-1}}{(2-V_k)^m} \left((m-n) Y_{k(n+m-1)} - nY_{k(n+m)} \right).$$

Proof. Consider

$$\sum_{i=0}^{n} \binom{n}{i} i^{\underline{m}} U_{ki} = \frac{1}{\alpha - \beta} \left[\sum_{i=0}^{n} \binom{n}{i} i^{\underline{m}} \alpha^{ki} - \sum_{i=0}^{n} \binom{n}{i} i^{\underline{m}} \beta^{ki} \right],$$

which, by Lemma 1, equals

$$\frac{n^{\underline{m}}}{\alpha-\beta}\left[\frac{\left(1+\alpha^{k}\right)^{n}}{\left(1+\beta^{k}\right)^{m}}-\frac{\left(1+\beta^{k}\right)^{n}}{\left(1+\alpha^{k}\right)^{m}}\right]=\frac{n^{\underline{m}}}{\left(2+V_{k}\right)^{m}}X_{k(n+m),}$$

as claimed. One can easily obtain the rest of claimed identities.

Similar to the proof of Theorem 1, we have the following result without proof.

Theorem 2. For nonnegative integers n and m,

$$\sum_{i=0}^{n} \binom{n}{i} i^{\underline{m}} V_{ki} = \frac{n^{\underline{m}}}{(2+V_k)^m} W_{k(n+m)},$$

$$\sum_{i=0}^{n} \binom{n}{i} i^{1+\underline{m}} V_{ki} = \frac{n^{\underline{m}}}{(2+V_k)^m} \left[(m-n) W_{k(n+m-1)} + n W_{k(n+m)} \right],$$
$$\sum_{i=0}^{n} \binom{n}{i} (-1)^i i^{\underline{m}} V_{ki} = (-1)^{n+m} \frac{n^{\underline{m}}}{(2-V_k)^m} Z_{k(n+m)},$$
$$\sum_{i=0}^{n} \binom{n}{i} (-1)^i i^{1+\underline{m}} V_{ki} = \frac{n^{\underline{m}} (-1)^{n+m-1}}{(2-V_k)^m} \left[(m-n) Z_{k(n+m-1)} - n Z_{k(n+m)} \right].$$

In order to generalize Theorems 1 and 2, we will define two new operators. For $n \ge 1$, define the operators D_U and Δ_U on $X_{k(n+m)}$ and $Y_{k(n+m)}$ as follows

$$D_U(X_{k(n+m)}) = nX_{k(n+m)} + (m-n)X_{k(n+m-1)}, \qquad (2.1)$$

$$\Delta_U \left(Y_{k(n+m)} \right) = n Y_{k(n+m)} - (m-n) Y_{k(n+m-1)}.$$
(2.2)

For example, from Theorem 1 and (2.1), we have

$$\sum_{i=0}^{n} \binom{n}{i} i^{2+\underline{m}} U_{ki} = D_U \left[\sum_{i=0}^{n} \binom{n}{i} i^{\underline{m}+1} U_{ki} \right]$$

= $D_U \left[\frac{n^{\underline{m}}}{(2+V_k)^m} \left(nX_{k(n+m)} + (m-n)X_{k(n+m-1)} \right) \right]$
= $\frac{n^{\underline{m}}}{(2+V_k)^m} \left[n^2 X_{k(n+m)} + (m-n)(2n-1)X_{k(n+m-1)} + (m-n)(m-n+1)X_{k(n+m-2)} \right].$

From the discussion above, if $\sum_{i=0}^{n} {n \choose i} i^{s-1+\underline{m}} U_{ki}$ is of the form $\frac{n^{\underline{m}}}{(2+V_k)^m} \sum_{t \ge 0} a_t X_t$, then

$$\sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} U_{ki} = \frac{n^{\underline{m}}}{\left(2+V_{k}\right)^{\underline{m}}} D_{U} \left[\sum_{t\geq 0} a_{t} X_{t}\right].$$

Hence the coefficients a_t can be computed iteratively. Iterative process is summarized in the theorem:

Theorem 3. The polynomials $a_{s,r}(m,n)$ satisfy the recurrence

$$a_{s,r}(m,n) = (n-r)a_{s-1,r}(m,n) + (m-n+r-1)a_{s-1,r-1}(m,n), \ s \ge 1,$$

where the initial value $a_{0,0}(m,n) = 1$ and if r < 0 or r > s, $a_{s,r}(m,n) = 0$. For any integers $m, s \ge 0$,

i)
$$\sum_{i=0}^{n} {n \choose i} i^{s+\underline{m}} U_{ki} = \frac{n^{\underline{m}}}{(2+V_k)^m} \sum_{r=0}^{s} a_{s,r}(m,n) X_{k(n+m-r)},$$
 (2.3)

ii)
$$\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} U_{ki} = \frac{n^{\underline{m}} (-1)^{n+m}}{(2-V_{k})^{m}} \sum_{r=0}^{s} (-1)^{r} a_{s,r}(m,n) Y_{k(n+m-r)}.$$
(2.4)

Proof. i) Recall that

$$\sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} U_{ki} = D_U \left(\sum_{i=0}^{n} \binom{n}{i} i^{s-1+\underline{m}} U_{ki} \right).$$

Thus by (2.1), we have

$$\begin{split} &\sum_{r=0}^{s} a_{s,r}(m,n) X_{k(n+m-r)} = D_U \left[\sum_{r=0}^{s-1} a_{s-1,r}(m,n) X_{k(n+m-r)} \right] \\ &= \sum_{r=0}^{s-1} a_{s-1,r}(m,n) \left((n-r) X_{k(n+m-r)} + (m-n+r) X_{k(n+m-r-1)} \right) \\ &= na_{s-1,0}(m,n) X_{k(n+m)} + \sum_{r=1}^{s-1} (n-r) a_{s-1,r}(m,n) X_{k(n+m-r)} \\ &+ \sum_{r=1}^{s-1} (m-n+r-1) a_{s-1,r-1}(m,n) X_{k(n+m-r)} \\ &+ (m-n+s-1) a_{s-1,s-1}(m,n) X_{k(n+m-s)} \\ &= na_{s-1,0}(m,n) X_{k(n+m)} + (m-n+s-1) a_{s-1,s-1}(m,n) X_{k(n+m-s)} \\ &+ \sum_{r=1}^{s-1} \left((n-r) a_{s-1,r}(m,n) + (m-n+r-1) a_{s-1,r-1}(m,n) \right) X_{k(n+m-r)}. \end{split}$$

Since $a_{s-1,r}(m,n) = 0$ if r < 0 or r > s - 1, we write

$$\sum_{r=0}^{s} a_{s,r}(m,n) X_{k(n+m-r)}$$

=
$$\sum_{r=0}^{s} \left[(n-r)a_{s-1,r}(m,n) + (m-n+r-1)a_{s-1,r-1}(m,n) \right] X_{k(n+m-r)}.$$

The recurrence of $a_{s,r}(m,n)$ follows by comparing coefficients.

ii) Observing

$$\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} U_{ki} = \Delta_{U} \left[\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s-1+\underline{m}} U_{ki} \right],$$

the proof follows similar to the first claim.

For $n \geq 1$, define the operators D_U and Δ_U on $W_{k(n+m)}$ and $Z_{k(n+m)}$ as

$$D_V (W_{k(n+m)}) = nW_{k(n+m)} + (m-n)W_{k(n+m-1)},$$

$$\Delta_V (Z_{k(n+m)}) = nZ_{k(n+m)} - (m-n)Z_{k(n+m-1)}.$$

Theorem 4. For $m, s \ge 0$,

$$\sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} V_{ki} = \frac{n^{\underline{m}}}{(2+V_k)^m} \sum_{r=0}^{s} a_{s,r}(m,n) W_{k(n+m-r)}, \qquad (2.5)$$
$$\sum_{i=0}^{n} \binom{n}{i} (-1)^i i^{s+\underline{m}} V_{ki} = \frac{n^{\underline{m}} (-1)^{n+m}}{(2-V_k)^m} \sum_{r=0}^{s} (-1)^r a_{s,r}(m,n) Z_{k(n+m-r)}. \qquad (2.6)$$

Proof. The proof is similar to the proof of Theorem 3.

3. Additional Sums Formulæ including odd powers of the Generalized Fibonacci and Lucas numbers

In this section, we will derive much more general case of the results of Theorems 3 and 4 by taking odd powers of the generalized Fibonacci and Lucas numbers. Before this, we need to recall some facts.

From [10], for reals m and n, recall that

$$(m+n)^k = \sum_{i=0}^{(k-1)/2} \binom{k}{i} (mn)^i (m^{k-2i} + n^{k-2i})$$
 if k is odd,

and

$$(m-n)^{k} = \sum_{i=0}^{(k-1)/2} \binom{k}{i} (-1)^{i} (mn)^{i} (m^{k-2i} - n^{k-2i}) \quad \text{if } k \text{ is odd.} \quad (3.1)$$

Now we are ready to give our first claim:

Theorem 5. For k, s > 0,

$$\sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} U_{ki}^{2s+1} = \frac{n^{\underline{m}} U_{k}^{2s}}{(V_{k}^{2}-4)^{s}} \sum_{j=0}^{s} (-1)^{j} \binom{2s+1}{j} \frac{1}{(2+V_{k(2s-2j+1)})^{m}} \times \sum_{r=0}^{s} a_{s,r}(m,n) X_{k(2s-2j+1)(n+m-r)}.$$

Proof. For k > 0, by the Binet formula of $\{U_n\}$ and (3.1), we have

$$\sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} U_{ki}^{2s+1} = \sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} \left(\frac{\alpha^{ki} - \beta^{ki}}{\alpha - \beta}\right)^{2s+1}$$

$$= \frac{1}{(\alpha - \beta)^{2s+1}} \sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}}$$
$$\times \sum_{j=0}^{s} \binom{2s+1}{j} (-1)^{j} \left(\alpha^{ki(2s-2j+1)} - \beta^{ki(2s-2j+1)} \right)$$
$$= \frac{1}{(p^{2}-4)^{s}} \sum_{j=0}^{s} \binom{2s+1}{j} (-1)^{j} \sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} U_{ki(2s-2j+1)},$$

which, by taking k(2s + 1 - 2j) replace of k in (2.3), equals

$$\frac{n^{\underline{m}}U_{k}^{2s}}{(V_{k}^{2}-4)^{s}} \sum_{j=0}^{s} {\binom{2s+1}{j}} \frac{(-1)^{j}}{\left(2+V_{k(2s-2j+1)}\right)^{m}} \sum_{r=0}^{s} a_{s,r}(m,n) X_{k(2s-2j+1)(n+m-r)},$$
as claimed.

as claimed.

Theorem 6. For k, s > 0,

$$\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} U_{ki}^{2s+1}$$

$$= (-1)^{n+m} \frac{n^{\underline{m}} U_{k}^{2s}}{(V_{k}^{2}-4)^{s}} \sum_{j=0}^{s} (-1)^{j} \binom{2s+1}{j} \frac{1}{(2-V_{k(2s-2j+1)})^{m}}$$

$$\times \sum_{r=0}^{s} (-1)^{r} a_{s,r}(m,n) Y_{k(2s-2j+1)(n+m-r)}.$$

Proof. For k > 0, consider

$$\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} U_{ki}^{2s+1} = \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} \left(\frac{\alpha^{ki} - \beta^{ki}}{\alpha - \beta}\right)^{2s+1},$$

which, by (3.1), equals

$$\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} \left[\sum_{j=0}^{s} \binom{2s+1}{j} (-1)^{j} \left(\frac{\alpha^{ki(2s-2j+1)} - \beta^{ki(2s-2j+1)}}{(\alpha-\beta)^{2s+1}} \right) \right]$$
$$= \frac{1}{(p^{2}-4)^{s}} \sum_{j=0}^{s} \binom{2s+1}{j} (-1)^{j} \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} U_{ki(2s-2j+1)}.$$

By taking k(2s+1-2j) instead of k in (2.4), the claimed result follows. \Box

Using (2.5) and (2.6), and, by following the proof of Theorem 5, we have the following result without proof.

Theorem 7. For k, s > 0,

$$\sum_{i=0}^{n} \binom{n}{i} i^{s+\underline{m}} V_{ki}^{2s+1} = n^{\underline{m}} \sum_{j=0}^{s} \binom{2s+1}{j} \frac{1}{\left(2 + V_{k(2s-2j+1)}\right)^{\underline{m}}} \times \sum_{r=0}^{s} a_{s,r}(m,n) W_{k(2s-2j+1)(n+m-r)}$$

Theorem 8. For k, s > 0,

$$\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} i^{s+\underline{m}} V_{ki}^{2s+1} = (-1)^{n+m} n^{\underline{m}}$$
$$\times \sum_{j=0}^{s} \binom{2s+1}{j} \frac{1}{\left(2 - V_{k(2s-2j+1)}\right)^{m}} \sum_{r=0}^{s} (-1)^{r} a_{s,r}(m,n) Z_{k(2s-2j+1)(n+m-r)}.$$

ACKNOWLEDGEMENTS

The authors would like to thank the referee for carefully reading the paper and for giving a number of helpful suggestions.

References

- [1] H. W. Gould, Combinatorial Identities, Morgantown, W. Va., 1972.
- [2] E. Kılıç and P.Stanica, Factorizations and representations of second order linear recurrences with indices in arithmetic progressions, Bulletin of the Mexican Mathematical Society 15(1) (2009), 23-36.
- [3] E. Kılıç, Y.T. Ulutaş and N. Ömür, Formulas for weighted binomial sums with the powers of terms of binary recurrences, Miskolc Math. Notes, 13(1) (2012), 53-65.
- [4] E. Kılıç, N. Ömür, and Y. Ulutaş, Alternating sums of the powers of Fibonacci and Lucas numbers, Miskolc Math. Notes 12 (1) (2011), 87-103.
- [5] E. Kılıç and N. Ömür, Some weighted sums of products of Lucas sequences, Integers, 2013, #A27.
- [6] E. Kılıç, N. Ömür and S. Koparal, On alternating weighted binomial sums with falling factorials, accepted in Bull. Math. Analysis and Appl.
- [7] M. Khan and H. Kwong, Some binomial identities associated with the generalized natural number sequence, The Fibonacci Quarterly 49(1) (2011) 57–65.
- [8] H. Prodinger, On a sum of Melham and its variants, The Fibonacci Quarterly, 46-47(3) (2008-2009), 207-215.
- [9] M. Wiemann and C. Cooper, Divisibility of an F L type convolution. Applications of Fibonacci Numbers, 9 (2004), 267-287.
- [10] S. Vajda, Fibonacci & Lucas numbers, and the golden section, John Wiley & Sons, Inc., New York, 1989.

TOBB Economics and Technology University, Mathematics Department 06560 Sogutozu Ankara Turkey

 $E\text{-}mail \ address: \texttt{ekilic@etu.edu.tr}$

Kocaeli University Department of Mathematics 41380 İzmit Kocaeli Turkey *E-mail address*: neseomur@kocaeli.edu.tr

Kocaeli University Department of Mathematics 41380 İzmit Kocaeli Turkey *E-mail address*: sibel.koparal@kocaeli.edu.tr